Gas Spring | Damper Spring | SafetylLock | Traction Gas Spring

GAS SPRING MANUFACTURER

Q G &S Korea

Gas & Spring Korea
casasgringkorea  WWW.GNSKOREA.CO.KR



Company Overview

New standards for a comfortable life. To a better future with G&S KOREA
The future of sustainable growth, Gas Spring Korea

Creative, Energy, Comfortable
High performance of "Gas spring”, "Gas struts”, "Gas lift"

A first-class company that customers can trust
We will provide differentiated and customized services with various
experiences and expertise,

The modern lifestyle is causing drastic changes with incredible speed.
Continuous innovative movements toward a better life in an atypical era grow G&S KOREA.

In order to create new values, we will fill the links with our clients by listening to our customers with
a business mind of win/win partnership.

To create an optimal space and comfortable life, G&S KOREA will extend to the world with
a pride of the highest quality products,

WWW.GNSKOREA,CO KR



WWW.GNSKOREA.CO.KR

G&S KOREA -COMPANY OVERVIEW

FDE

Company Overview Company Overview

Appllication

Car Bus Caravan
- I
| 1 g i
] - £ &
A e -
& ]
| |
. |
Furniture "
| M Ig ¢ I
| -
Bed Medical Camping car Tractor
#This image is to help your understanding, and may differ from the actual installation result,
i
g &
G REaS R gTIO Ri) O ron OF REGTRATION 1) st S = F : e HE AR B
L I bt ARt ety dimm L e e i PHA N S Y] #14 il = mad ) ot ; " A WL
oy e — -y e meme g - LT
T 1A T G5 fe SPRING HORSA E; # A EAN
o z: A S5
S iy Zi s S s
== o wwil® | ™
[ YRRt @ 3 Al DG L @G el @ @W m-u-mmmq@
Patents Patents Quality Management Quality Management Environmental Management Environmental Management  INNO-BIZ Confirmation ISO business confirmation Youth Tomorrow Chaeum
System Certificate Systern Certificate (English) Systern Certificate System Certificate (English) Support subscription certificate



L MAX L MAX

¥ —— S ™~ 1 I —
Rod dia. ! Rod dia. ﬁ_lj

Tube dia. — ; Tube dia— :
Al S20-C(Chrome) STKMNA
A2 S20-C(Black) STKMNA
A 20~300 100~500 20~200 6 15
A3 SUS316L STKMNA
Ad SUS316L SUS316L
Bl S20-C(Chrome) STKM11A
B2 520-C(Black) STKMTIA
B 50~500 100~1,000 20~450 8 18
B3 SUS316L STKMTA
B4 SUS316L SUS316L
& S20-C(Chrome)  STKMTIA
c2 S20-C(Black) STKMTA
C 50~700 100~1,000 20~450 10 22
C3 SUS316L STKMTA
C4 sUS3teL SUS316L
D1 520~-C(Chrome) STKMTA
274
D2 S20-C(Black) STEKMTIA
D 200~2.000 = 100~1500  20~700 12.5
D3 SUS316L STKMNA
27
D4 SUS316L SUS316L
El S20-C(Chrome)  STKMTIA
274
E2 520-C(Black) STKMMNA
E 200~2,000  100~1,500 20~700 14
E3 SUS316L STEKMTA
27
E4 SUS316L SUS316L

# Other specifications can be discussed with our engineer before manufacturing.




. FURNITURE GAS SPRING

GUIDE CODE A

Rod dia. @6 x Tube dia. @15

P
3 * ,.»//
v
Y -~

f’,r 5 A .
e & /
" \:ﬁ{'

3 57

* Recommended option : End fitting & Bracket - K1, K2, K3, M1, M3, M4, N1, N4, N7, P1, P2, P3, P4, A, B, C, D

o

GUIDE cCODE B

Rod dia. @8 x Tube dia. @18

» Recommended option : End fitting & Bracket - K1, K2, K3, L1, L2, L3, L4, L5, M1, M3, M4, N1, N4, N7, P1, P2, P3, P4, G

END FITTING & BRACKET

=

L]

GUIDE coDE C
Rod dia.@10 x Tube dia. 22

* Recommended option : End fitting & Bracket

K1, K2, K3, K6, M2, M5, M7, M8, L1, L2, L4, LS5, F1, F2,
N3, N5, N6, N8, U1, U2, G

GUIDE cCODE D
Rod dia. #12.5 x Tube dia. $27.4

* Recommended option : End fitting & Bracket
K3, K6, M2, M5, M7, M8, F1, F2, N3, N5, N6, N8, U1, U2, K

GUIDE coDE E
Rod dia. @14 x Tube dia. 27.4

* Recommended option : End fitting & Bracket
N3, N5, N6, N8, F1, M5, M7, M8, U1, U2




G&S KOREA - PRODUCT \ GAS SPRING

\ FURNITURE GAS SPRING \ DAMPER SPRING \ SAFETY LOCK \ TRACTION GAS SPRING \ END FITTING & BRACKET

Furniture Gas Spring

)|

=1 — O

T
=

£s fig S AF D pints S

-

ol

mraL |

l!l lmll l'l'

.
gl

o E

[ 2=
Lod 2 3 ¢ '3 PSS —-—

11

= Recommended option : Bracket - A B, C,D,E, F

Furniture
Gas Spring




GQAS SPRING FURNITURE GAS SPRING DA MPEF

% Unauthorized duplication and illegal use of images and drawings of the product above are prohibited.

OIL SEAL

ROD GUIDE PISTON STOPPER

m

G&S damper spring allows you to maintain an appropriate speed when lowering heavy objects or heavy doors, which
not only prevents rapid falls, but also provides convenience to life. More accurate manufacturing is possible if you provide
a sample for reference given the characteristics of the damper products when placing an order for manufacturing, and if

you want to change the speed, please consult wit h our engineers.

SAFETY LOCH TRACTION GAS SPRING END FITTING & BRACKET

# Unauthorized duplication and iflegal use of images and drawings of the product above are prohibited.

GAS SPRING SAFETY LOCK COVER

I

Safety Lock

B

The G&S safety lock has a safety device. It is a product that has added a safety cover those functions

as a support to regular gas springs, and the safety cover prevents safety accidents in advance (=] A =]
bypreventing the gas spring from operating.

This not anly ensures safety against sudden gas leakage, but also can prevent the door from clesing (&

caused by shifting of the center of gravity when used in asloped workplace.

Safety lock video
* Please place an order in consultation with our engineer,



¥ lnauthorized duplication and illegal use of images and drawings of the product above are prohibited.

EXTENDED MODE

This is a special type of gas spring, and the function is in reverse of a regular gas spring.
The basic form is a contracted form with the rod inserted in the tube
When you apply force, it expands to the point of maximum extension,

When you release the force, it returns to its normal state.

* Please place an order in consultation with our engineer,




KOREA — PRODUCT ' GAS SPRING . FURNITURE GAS SPRING \ DAMPER SPRING SAFETY LOCK TRACTION GAS SPRING N END FITTING & BRACK

End Fitting
& Bracket



GAS SPRING FURNITURE GAS SPRING Y DAMPER SPRING SAFETY LOCK TRACTION GAS SPRING N ENDEITTING & BRACK

End Fitting End Fitting
17.5 Stainless
‘—.‘f &?-8\ ; = )?98 I =2
s a ae 2 T
| Eig T 2 o \tﬁ S s o Rk
— 1 — =) < -t S
P" (am ] a W = o ’ u ,fj
. 9’ ' 7 ” - ( j
L M6x1.0 / /
P1 16.0 166 M7 ME*1.257 @133 M8 M8%1.257 @133
Ry Cutting 100 2
i 8 : 5 g =2 v
sl L s : & = ([ e
/I MEx1.0 | / I [ \ :
XKl S—
3 16.6 | (Brasinsen) Mo M10*1,5 #16.5 N1 | _|%105 ME*1,0
" %) 16.6 Cutting 5.0 14.0
Lo - s | & o2
% ~ :‘\ : a__j N s %/
Cd 1 2 = 4 r)
fll @ MEX10 - ﬂ * & i
\ME*1.0 M65K1-.D gl
p5 12.2 P6 N _\Lm-e N3 $10.5 ME*L.25
Stainless Cutting 10.0 14.0
! 3 - - L —]
of B F | = > N [ %
e S e : 2
/ | , -
M M2 M8%1.25 @11.0 N4 ?10.5 MB#1.25
Stainless Stainless Cutting 10.0 Stainless Cutting 5.0
o &325 o . =
i S ‘,f » s S - =]
» o s S o RS \:\v 8 ¢ | D o
w 3 (o]
2 (@ I e S W g
I / I =
ME*1.0 ME*1.0 : N
M 3102 M4 10.2 NS 8105 N7 210.2
Stainless Stainless Cutting 5.0 s
RZS D = = o ®¢/
i ls = & - -« =T 5
] ~e Wi g f,u;
/1‘ —i—- j /1 | ~ ! <
| MEx1.25” @10 I : 13.0 340U‘
M ME#%1.25 @102 M6 @10.2 N8 #10.2 MEB¥1.25 K1

% Unauthorized duplication and illegal use of images and drawings of the product above are prohibited. % Unauthorized duplication and illegal use of images and drawings of the product above are prohibited.



K2

Stainless

IS
=

D

K4

F1

622
-"(|_/ o
L

16.0
>
_»-)qj =
-

15.0
"‘qj o
i

18.0

°

18.0

27.0

‘_9.;2
m_ sy B
w Plastic
& Bushing
16.0

?18

2.0

®

>
S

Stainless

K7

<

13,0
#0°
@ .
1 )
o

18.0
,q/' &
®

16,0

% Unauthorized duplication and illegal use of images and drawings of the product above are prohibited.

b

Plastic
Bushing

ME%1.25

U1

-4,

G

% Unauthorized duplication and illegal use of images and drawings of the product above are prohibited.

230

I
S I -

218

i

M8%1.25

60 140

34.0

u2

Stainless
.

%;n

J

11.5
4 11,5
&2 |
D T —
) :
o |
i o
B18 ™

THE,

26,01/

51.0

29)
{g{/ 14.0
&
%o o 7
) i
= 2
o 7
20.0 20
910.0 ME%1.23
_ by
NP
nE 60 120
32.0



.

% Unauthorized duplication and illegal use of images and drawings of the product above are prohibited.

G&S KOREA — PRODUCT GAS SPRING FURNITURE GAS SPRING DAMPER SPRING
Bracket
@13.0 MB8*1.25 @13.0 M10x%1.5
\ Y - TN A
\ (T N \ ¥ ==
H14 50 15.0 TR 50 220
36.0 43,0
K L
Stainless
" ?16.0
~ ?13.0 ME8%1.25 M10%1.5
\ a8 aws s -
?16 3.9 19.0
430
'M 'N
18.0 Stainless < 180
5
3.0 % 30 %
a 1 o |— | o M-
A 1 = iz tD = o (] ]CE
- H " \l SN f = . o
b -~ = I 2 H] < — |
\ 2 ‘EB o - s @ o m]
i1 _= I = ‘ 8 =
: WL & :/ :___f >
GWBT_FO1 19.0 6.5  GWBT_F01-1 15.0 6.5
0 Stainless :
g =5 18 . 20 18.0
"I - 1 11 S [T ("_"!
W :\ oIS ‘Q :\ o Ig
i ™~
N R R BT N s le-tm,
T o : . >
A~ N7 e e 7 j‘/’ S
; . _/ — e 1 ()
L t U = —4 o B D (o]
o @
GWBT_F02 1.0 6.5 I..GWBT,F0_2-1 19.0 6.5
" T 4%) 18.0 Stainless 75 '%) 18.0
. =/ B o F—T1 = " @ e v 11 o
- 1 oy Lo ol =
E \ # @A) = >¥r—1 5 i @)= >ﬁrr~1
% 0 &SI % 2 ©)-SrkH
~ B A o ( ! ™~ <
2w | "' e BECASY = S
GWBT_F03 18.5 6.5 ' GWBT_F03-1 185 6.5
4.0 18.0 Stainless 4.0 18.0
of - — ol ™ —
§ N i 1 ‘~\5 I e— I 1&
& ¢ o 3 G . =]
3 N fl s B = 0
= : e, £ u : . 3 [
DN T} k—% : £ N B ] % s
O N i / D{-’?:: 43'\» ™ %
- N 2, N — { 1 1) J
. o a
GWBT_F04 185 6.5  GWBT_F04-1 18.5 6.5

"1 _Lé'-- P P—

T

E

T

% Unauthorized duplication and illegal use of images and drawings of the product above are prohibited.

SAFETY LOCK “\, TRACTION GAS SPRING END FITTING & BRACK!
Bracket
3.0 40 — 3.0 40
: 16.016.0 Staifiiess 60160
& £ = ) < E
ol o~ 2 ol TR ®
- |\.‘_\_‘ H h
B| S L7 \ w| <7 2| [ =
I Sl & 15— b
HH H
. = 65
E%na 6.5  GWBT_F05-1 :‘% )
4.0 40 Stainless 4.0 40
6.0 16,0
2 s le 60 3 o
e S;;H or— (I <18 S S?,HZ o] 12
H = H =]
. Y n U(Ll_ e o I;i " & 0| “H 2 N | o
‘_‘_ - | — lan P y ] L _Mi/ o=
\l—‘
- GWBT_F06 :%\.Fé 69  GWBT_F06-1 :c%x N 63
3.0 T _ 40
Stainless 3.0 60160
a = )] =S
L - | o -.F—- | = < ([]_\
@ | < - |l
e 3 -\\”q = ~ O i = 7N
. RS - By b| S e -
R 23 ™~ ) - N~ 3
¥ | o N R S | S
_ .
. R85 =765
GWBT_FO07 % i  GWBT_F07-1 % &
4.0 40 inle 40
= . 60160 SHRE . . 10 Foiep
g sl - 1
- Sl edoNTe & % [l o 1O s
_ < H L as ) < H 2 1 o
D\ e = X‘Hﬂ = @) ‘*-\) & }\-{ﬂ = 7
. O\ Bl S o & Bl SEH S &
B D i = : 1 P
L - - o 1 (11 =
v 65 - i 6.5
GWBT_FO08 .  GWBT_F08-1 % :




G&S KOREA -CODE TABLE GUIDE WWW.GNSKOREA,CO.KR

25

COde Ta ble Guide End Fitting Code No.

B1 P4 450 190 G G D

i [1 English alphabet [1 English alphabet Wy g [1 English [1English [1 English
End Fitting Code Gas Spring Rod & Tube Code End Fitting Code letter + T~dlgit number] (B4 ¢+ Edlioie iimber] [3~4-digit number] [3-digit number] alphabet letter] alphabet letter] alphabet letter]

| ] m Rod & Tube End fitting Tube Rod :
aﬁ M Specification Spedification €) Moxtengh  Stroke Length ' Bracket  Bracket © option

Check the end fitting code. (Models with only tap work done and no end fittings have no code for this part.)

6Fm_6ﬂ ----- '
LOTNG: 2107 D N E | Fitting :

Bracket Code No s |00 NOT OPEN. DO NOT HEAT . Bracket Code No P1 Gray Injection Hinge Plastic M6*1.0
......................... § em— — J == P2 Black Injection hinge Plastic M6*1.0
: i ! P3 Black Injection hinge Plastic Insert M6*1.0

v v v v v v c o ; : T
= - P4 Gray Injection Hinge Plastic Insert M6*1.0
B1 P4 450 190 G G D p5 Black Injection hinge Plastic M6*1.0

[1 English alphabet [1 English alphabet — s - [1English [1 English [1English P& Gray Injection hinge Plastic M6*1.0
letter + ~digit number] letter + 1-digit number] [3~4-digit number] [3-digit number] alphabet letter] alphabet letter] alphabet letter] A e

s M1 10M-Metal hinge 520C M6*1.0
g;&dd%;%%% sﬁﬁéggﬁn © Moxtengin  Stroke Length i B:-.;mk sfféget © option M2 10M-Metal hinge 520C M8*1.25
M3 10M-Metal hinge (Safety Clip) S20C . M6*1.0
M4 10M-Metal hinge (Safety Clip) SUS304 | M6™1.0
Rod & Tube Code No. M5 10M-Metal hinge (Safety Clip) 520C M8*1.25
M6 10M-Metal hinge (Safety Clip) SUS304 M8*1.25
M7 13M-Metal hinge (Safety Clip) $20C ' M8*1.25
B1 P4 450 1 90 G G | D M8 13M-Metal hinge (Safety Clip) SUS304 M8*1.25
Ie&ﬂ%l-lsd?gai:pﬁfmr] In=.nt£1elE Z%Eg;g?lpnhuanﬁebter] [3~4-digit number] [3-digit number] alpf[:aﬁr;?llther] aIpEaEbr;?::t'Ier] alp£11aﬁzgllzt|?ter] f:? 16M_ME[;L:2? :irisgfew S zﬁg M:l::) ;11501-
ggﬁ%cTaL:i?:; 35235'.3233.1 €) Moclength  Stroke Length ' afé'&it BrF;gEet © ostion N2 Cutter hinge S20C _ M6*1.0*5T
Check Rod and Tube on the code table page whichare the first code. N3 el e - MB*1.25710T
N4 Cutter hinge SUS304 M6*1.0*10T
' 2 ' . b NS Cutter hinge S20C M8*1.25*5T
:; 2 :: Szgofggg’x} E;Emi N6 Cutter hinge SUS304 M8*1.25%10T
- N7 utter hin 4 M&*1.0*5T
A 0 e s i AL N8 Euzizr hinzi :E:§g4 M86*1 205*55T
A4 6 15 SUS316L SUs316L -
Bl 8 18 520-C(Chrome) STKMIIA el R IbE SREC | 320862
B2 8 18 $20~C(Black) STKMIIA K2 I=RINK SPCC 3.21%68118
B3 8 18 SUS316L STKM11A K3 I=RINK SPCC , Ste8™17
B4 8 18 SUS316L SUS316L K4 [=RINK SUS304 5t*8*17
Cl1 10 22 S20-C(Chrome) . STKM11A K5 [—RINK SPCC 3.2t*$10*18
c2 10 22 $20-C(Black) STKM11A K6 -RINK SPCC | 5t*$10*17
c3 10 22 sSUS316L STKMT1A K7 ~RINK SUS304 3.2t"08*18
c4 10 . 22 | SUS316L . SUS316L L] L1-RINK SPCC 3.2t*$13*24
g; 1‘;2 . g-z 52?;‘52!’0";?} . ?Emi L2 L2-RINK SPCC 3.20°013*25
- : ac |
D3 12.5 27 SUS316L STKM11A 4 vkl i il
D4 125 27 SUS316L SUS3teL = Sl dens | Sl
El 14 574 $20-C(Chrome) STKMTIA F1 Freelock Link 520C | 10t*¢8.118
E2 14 274 $20-C(Black) ' STKMI1A F2 Freelock Link (No wing) 520C 10t*¢8.1"18
E3 14 ' 27 SUS316L ' STKMIA Ul = (Small) S20C _ 3.2t*¢8*7

E4 _ 14 : 27 _ SUS316L | sus3teL U2 C (Large) $20C 3.2t%08*11.5



G&S KOREA -CODE TABLE GUIDE WWW.GNSKOREA.CO.KR

A

L Max Code No. & Stroke Code No. Option Code No.

[1English alphabet  [1English alphabet gt ; [1English [1 English [1English [1Englishalphabet ~ [1Englishalphabet 15 , o0 rs it number (1 English [1English (1 English
letter + 1-digit number] letter + 1-digit number] [3~4-digit number] [3-digit number] alphabet letter] alphabet letter] alphabet letter] letter + 1-digit number] letter + 1-digit number] L 9 1(3-dig ] alphabet letter] alphabet letter] = alphabet letter]
— r ) Rod & Tube End fitting Fia T Tube Rod :
LAl SIS @) moctenan  soketenar 8 o @owen O v et O veion  soetean @ 8L S @owe

It's a combination of [Maximum length + stroke] (unit mm),

What is maximum length?

Assuming that there are hole-type end fittings at both ends when the gas spring is extended to the maximum, it is the length z Traction
of the gap between the two-hole centers. SF Safety lock
L MAX L MAX D | Damper spring
stroke stroke
- ] Ay (I - )
% | | | g ‘fT_l | T T?’
ia, Rod dia. —!
Tube dia. — Rpeicle: Tube dia. — RS

Tube & Rod Bracket Code No.

[1 English alphabet [1English alphabet [1English [1 English [1English
letter + 1-digit number] letter + 1-digit number] alphabet letter] alphabet letter] alphabet letter]

o Rod & Tube End fitting
Specification Specification

[3~4-digit number] [3-digit number]

o Tube Rod ;
Max. Length Stroke Length &Y Dracket Bracket o Option

Two uppercase letters of English Alphabet representa brackets code,
if a product does not have a bracket, there is no code attached to this part.

Bracket SPCC Spherical R-1 for furniture

A

B Bracket SPCC Spherical R-2 for furniture

C Bracket . SPCC . New model A for furniture

D Bracket SPCC I New model A-1for furniture

E Bracket SPCC I New model B for furniture

F Bracket SPCC . New model B-1 for furniture

H Bracket . SPCC I New model A for furniture(round type)
| . Bracket . SPCC . New model A-1for furniture(round type)
G | Ball Stud | $10C | #10"M8*1.25

J Ball Stud SUS304 | $10*M8*1.25

K Ball Stud $10C | $13*M8*1.25

L Ball Stud $10C $13*MI0*1.5

M Ball Stud SUS304 $13*M8*1.25

N Ball Stud | $10C | 616"M10*1.5 G&S Korea

.. Gas & Spring Korea



G &S Korea

a? . Gas & Spring Korea

= Head office : (50968) 105, ljisandan-ro, Juchon—-myeon, Gimhae-si,
Gyeongsangnam-do, Republic of Korea
® Overseas Dep. Tel : 82-70-4432-5525 / 82-70-4422-9896

= Office Tel : 82-55-313-1687~8 Fax : +82-55-313-1686
= E-mail : gns@gnskorea.co.kr = Website : www.gnskorea.co.kr




